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General Instructions : _
(i) This question paper contains three parts A, B and C.
(i)  Part A is compulsory for all candidates.

(i1i)) Candidates can attempt only one part of the remaining parts
B and C.

(iv) All parts of the questions should be attempted at one place.

AT 75T
()  ¥8 ¥¥7-97 a7 90 X s 8 - &, @ K T

(i) 9T & g4 o & fow srfEd 8 |

(iii)  GOefFEr F WY 97T @ R T H § FF THE G FF FAT 8 |
(iv) fF9 399 & TF 97 & IW & & @ W fArEw |

PART A
(Not-for-Profit Organisations, Partnership Firms and
Company Accounts)

W &
(EMVHT WS, WEER ®H a91 HW-1 @)

1. When the Receipts and Payments Account is converted into an Income
and Expenditure Account, an accounting concept is to be followed for
the provisions of the Accruals and Outstanding. Name the concept that
is followed. : :

5§ Wftd TE IAE WA F1 FY-R0 AE-29T @9 A A Sr 8, swie qer
Ied & U TS & fU UF oREieA Heheq # SISl fEAr S €
39 Gheddl 1 A FqrRT |

2. Can a partner be exempted from sharing the losses in a firm ? If yes,
under what circumstances ?

N TH WERR @ wH F O aeh @ § wnier @9 ¥ 4 fe ST e
g2 A & @ fo offefed & 2

3. State two elements of the partnership deed.

e fo ¥ @ o SaRu |
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4. How is a new partner admitted to a firm ? 1

o U T gEeR 9 Y9y N GEar g ?

5. Why would an investor prefer to invest in the Debentures of a
Company rather than in its Shares ? 1
wF fvE TE A A SRl # omen murel # fREW & & o s
M 2

6. From the following informations calculate the amount of subscriptions

to be credited to the Income and Expenditure Account for the year

2007 - 08 : : 3
t Rs.
Subscriptions received during the year 70,000
Subscriptions outstanding on 315t Mafch 2007 16,000
Subslcriptions outstanding on 315t March 2008 5,000
Subscriptions received in advance on 315t March 2007 12,000
| Subscriptions received in advance on 315t March 2008 11,000

Subscriptions of Rs. 8,000 are still in arrears for the year 2006 — 07.

ffafad gaamstt @ a8 2007 - 08 ¥ 9-2 @ & 5 & 3R faw s &
I A R H 0 HIT

2
T H w9 ¥ Ui 70,000
31 7 2007 ® 3TEW T=[ 16,000
31 7 2008 F 3@ T 5,000
31 719 2007 ® agH ==l 12,000
31 W 2008 H A == 11,000

35 2006 -07 % 8,000 . =< & 31+ft sff a@Er 7 |

67/1 3 P.T.O.



The Directors of a Company forfeited 500 shares of Rs. 10 each issued
at a premium of Rs. 3 per share, for the non-payment of the first call
money of Rs. 3 per share. The final call of Rs. 2 per share has not
been made. Half the forfeited shares were reissued at Rs. 2,500 fully
paid. Record the journal entries for the forfeiture and reissue of

shares.

T FEE & gaed A 10 F O¥9E a 500 S, fwer foima 3w ufa
791 fifem W oo, 3 % wfd iYW I AR # PEE MW T A
¥ FROT S IR foram | 2 % Wi o7y sifeaw greer ofyr 9 uid E R | s
TC iRl H ¥ oMY efw 2,500 % F QUi ey §F frifna &G oo Sl
& S FA qg1 G i S S IsHmeEr sfafEEt S |

Meena Ltd. issued 30,000 shares of Rs. 10 each at a premium of Rs. 2
per share payable as Rs. 3 on application, Rs. 5 (including premium) on
allotment and the balance on first and final call. Applications were
received for 42,000 shares. The directors resolved to allot as follows :

A. Applicants of 20,000 shares 10,000 shares
B. Applicants of 20,000 shares 20,000 shares
C. Applicants of 2,000 shares Nil

Balu who had applied for 1,000 shares in category A and Ganesh
who was allotted 600 shares in category B failed to pay the allotment
money. Calculate the amount received on allotment.

d fafide 4 10 % & 30,000 i @ 2 . wfa siw dfwm @ R ¥ frf
foar f59 w ufa 3w 3 5. 3@ed W, 5 %. (Niffg9 9feq) @<= | 9 A9 FoH
wd o A W T T | 42,000 T F AU ET W g | HeErd A
frgaR smeed w3 @1 v fea

d. 20,000 3T F 3MECH H 10,000 FA

g, 20,000 39 & 37eeaH & 20,000 37
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9. A B and C were partners in a firm having capitals of Rs. 80,000;
Rs. 80,000; and Rs. 40,000 respectively. Their current account balances
were A : Rs. 10,000; B : Rs. 5,000 and C : Rs. 2,000 (Dr). According to
the partnership deed the partners were entitled to interest on capital
@ 5% p.a. C being the working partner was also entitled to a salary of
Rs. 6,000 p.a. The profits were to be divided as follows :

(a) The first Rs. 20,000 in proportion to their capitals
(b) Next Rs. 30,000 in the ratio of 5 : 3 : 2

(c) Remaining profits to be shared equally

The firm made a profit of Rs. 1,56,000 before charging any of the
above items. Prepare the Profit and Loss Appropriation Account and
pass the necessary journal entry for the appropriation of profits. 4

¥ 9 TN ¥ & W H uEer o e OSEr sEeE 80,000 €. 80,000
da1 40,000 . off | 3% =G WAl & AY ¥ : 10,000 F; F : 5,000 % qA
¥ :2,000% (M) ¥ | TR fooE & SHER WEER 9T af 5% @ X F S
WS TH & AER F | § S HERd G@eR a1, 9fd 99 6,000 . daq off I
1 SAFER a1 | A F e fEER @ o

(37)  ¥aW 20,000 &. I YR & U A

() A 30,000 F. 5:3:2F A H

(|) Y A H A SER-aER % ST
@ﬁﬁmsﬂnﬁ%mwaﬁﬁqﬁmﬁﬁaﬁﬁwsoowa H A
AT | A9-ge fafEee @ R ST 9w O F fafEse # smEvas
Asrrer wfafe FfT |

10. (a) A and B are partners in the ratio of 7 : 3. They admit C for 1/5™
share, which he acquires, in equal proportions from both. Find
the new profit sharing ratio.

(b) A, B and C were partners in a firm sharing profits in the ratio of
5:4 :3. B retires and his share is taken up equally by A and C.
Find the new profit sharing ratio. 2+2=4

(37) 3 qA T TS E SN A H 7 :3F ua F fawfd @ ¥ 1 =R w

& 15 3w AW & foau o ¥ Wy i, 9 9w A ¥ RE-RER &
Iu H A B | Y A & T SO 9 SN |

(F) A, AN G TH BH F GEIR T S AN B 5:4: 3% UG H faenfor
Fd ¥ | T SEHY TEU AT 8 a1 IS W F AN F F qq g
TR-TTR AT & | N fauem &1 721 e 919 FT |
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11. Anupama Ltd. had issued 10,000, 9% Debentures of Rs. 100 each which
is due for redemption on 31% March 2008. The company has in its
Debenture Redemption Reserve Account a balance of Rs. 4,00,000.
Record the necessary journal entries at the time of Redemption of

Debentures. 4
sy fafiee 310,000, 9% Fvrew frifrd few g & S Y& 100 & &1 2 |
3T FUGE H OWEF 31 HE 2008 F B R | FA F KOG e Y @A H
4,00,000 % F T 2 | TG & WET F GHT B Ay s Gfawd @
- TE Fifs |
12. The following is the Receipts and Payments Account of Queen’s Club
for the year ended 31% March 2008 :
Amount Amount |
Receipts Rs. Payments Rs.
To Balance b/d 1,82,000 | By Salaries 1,66,000
To Subscriptions 1,80,000 | By Stationery 32,000
To Tournament Fund 1,64,000 | By Rent 48,000
To Interest (investments)| 65,000 | By Telephone expenses 8,000
To Donations 1,12,000 | By Sports material & expenses 78,000
To Sale — concert tickets | 2,47,000 | By 6% Investments 5,00,000
By Miscellaneous expenses 24,000
By Concert expenses 58,000
By Balance c¢/d 36,000
9,50,000 9,50,000

The following additional information is provided :

(a) -

(b)

67/1

Subscriptions include Rs. 22,000 for 2006 — 07 and Rs. 8,000 for
2008 — 09.

Stock of Stationery on 315" March 2007 and 2008 was Rs. 4,200
and Rs. 6,400 respectively.




(c) Stock of Sports material at the beginning and end of the year was
Rs. 18,000 and Rs. 31,000 respectively.

(d) Rent includes Rs. 4,000 paid for March 2007, Rent for March
2008 is outstanding.

(e)  Telephone expenses include Rs. 3,000 as quarterly rent up to
31% May 2008. -

(f)  The value of Building as on 31° March 2007, was Rs. 8,00,000
~ and you are required to write off depreciation at 5%.

(g)  The value of investments on 31" March 2007 was Rs. 10 ,00,000,
and the Club made similar additional investments durmg the
year on 1%* October 2007.

You are required to prepare Income and Expenditure Account of the
Club for the year ended 31°' March 2008. . 6

31 W 2008 H TG B A I F foU FW I W NG W OFEH G
frfafaa 7 -

¥ BUN| LUN

Bl %. RAUGIE] %
fiyen 91 @ 1,82,000 | 3 1,66,000
o= 1,80,000 | R¥E 32,000
A= wUs 1,64,000 | 5 48,000
= (fafm) 65,000 | SEIHH =74 8,000
T 1,12,000 | #IST WMH U&= | 78,000
M fedhe fasma | 2,47,000 | 6% ffEm 5,00,000
fafers == 24,000
et =1 58,000
I A A MY 36,000
9,50,000 | 9,50,000
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13.
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(31) == ¥ 22,000 F. 2006 —07 F 41 8,000 & 2008 — 09 F GiHfAd & |

(@) By & ©is 31 99 2007 991 2008 H FAIE 4,200 F. T4 6,400 F.
o |

(@) WS UWH Wi a9 ¥ 9OW 991 o N 18,000 % =1
31,000 %. T | -

(®) émﬁﬁ 4,000 . F& 2007 & winfeaa & 941 A" 2008 & AT e©m
|

(@) WA =@ # 3,000 T e (FER) fRET 31 9 2008 7%
ofwfad € |

@ 314 2007 # T & T 8,00,000 % o1 7€ W 5% A & A g
FEA 2 |

() 319 2007 F @@ & g 10,00,000 €. o7 A1 FAG 4 I FER
it fafami &1 %7 a9 § 1 3fagak 2007 & f&ar |

31 A9 2008 & G B I 9% & U T F AE-4F Al IR FIGT |

X, Y and Z were partners sharing profits in the ratio of 3 : 2 : 1. On
31%* March 2008, their Balance Sheet stood as under.

Amount | Amount

Liabilities Rs. Assets Rs.
Capitals : Cash at bank 70,000
X.» 75,000 Investments 50,000
Y : 70,000 | Patents 15,000
Z : 50,000 | 1,95,000 | Stock - 25,000
Creditors : 72,000 | Debtors 20,000
General Reserve 24,00b Buildiﬁgs 75,000
Machinery 36,000
2,91,000 2,91,000

8
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X died on 31%* May 2008. It was agreed that :

(a) Goodwill was valued at 3 years’ purchase of the average
profits of the last five years, which were, 2003 : Rs. 40,000;
2004 : Rs. 40,000; 2005 : Rs. 30,000; 2006 : Rs. 40,000 and
2007 : Rs. 50,000. '

(b) Machinery was valued at Rs. 70,000, Patents at Rs. 20,000 and
Buildings at Rs. 66,000.

(c)  For the purpose of calculating X’s share of profits till the date of
death, it was agreed that the same be calculated based on the
average profits for the last 2 years.

(d) The executor of the deceased partner is to be paid the entire
amount due by means of a cheque.

Prepare X’s Capital Account to be rendered to his executor and also a
journal entry for the settlement of the amount due to the executor. SN

wF, A A4 ST WEER ¥ S @i B 3:2:1 % swud ¥ kg w4
31 9" 2008 = 37 fafq-faaor fafafea o -

afyr afar

Tgqmd % gmfaar - %
fer R R 70,000
T ;75,000 fafqam 50,000
€ 70,000 Rew 15,000
Ste ;50,000 | 1,95,000 | € 25,000
AR 72,000 | STER - 20,000
qE §9 24,000 | T 75,000
LNIEN 36,000
2,91,000 | 2,91,000

9 ; ; P.T.O.



31 ¥§ 2008 ® TH F Tg & T | WHAT T TER g3

(37) wAfG & qodied foa o auf & Sftgd oW & i a6 % BT ok
B, S W 2003 ¥ 40,000 %.; 2004 ¥ 40,000 F.; 2005 H 30,000 %.;
2006 # 40,000 &. T4 2007 ¥ 50,000 &. & |

(@) R F g 70,000 %, YSZF H 20,000 F. A HET H 66,000 F.

14.
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g |
(W) T # gg 9 foT 9% 39 SN & @ @ A S & fag v e
T f o @ T fad @ ANt & Sfed W S SmER WO |
(3) Y% WEER F GEE T HAURT H OPAE IWH THEE B G 96 F0
R fear s |
wwqﬁmﬁmﬁmﬁ%mm%ﬁmﬁmmm%ﬁw
& T g F A @ s S #

(a) Maneesh Ltd. took over assets of Rs. 9,40,000 and liabilities of
Rs. 1,40,000 of Ram Ltd. at an agreed value of Rs. 7,80,000.
Maneesh Ltd. paid to Ram Ltd. by issue of 9% debentures of
Rs. 100 each at a premium of 20%. Pass necessary journal entries
to record the above transactions in the books of Mohit Ltd.

(b)  Give journal entries in each of the following cases if the face
value of a debenture is Rs. 100 :

(i) A debenture issued at Rs. 105 repayable at Rs. 100
(ii) A debenture issued at Rs. 100 repayable at Rs. 105
(iii) A debenture issued at Rs. 110 repayable at Rs. 105 3+3=

(3) T s ¥ W fafs & SRR 9,40,000 . €T 3@ 1,40,000 3.

# & fAfved o9 7,80,000 = # %7 & | = fafeds 4 100 5 3=
A 9% FUGE H 20% WfEw W it = ™ fafre w1 e
fhdl | ST el & i %W%ﬁﬁiﬁé@ﬂ%gﬁﬁﬁw
Asamrar sfafeat HfT |

@ frfafed & fog Osamen sl Sive ot & wow & a3

100 %. 2 :

(i) UH BT & T 105 T ﬁrf?mr??mooz? W e o1
(i) U T & 9 100 & § forar st 105 5. W e a1
- (iii) U FOT T AT 110 % F R St 105 . W OINEEE o

10



15. Alpha Co. issued to the public for subscription 40,000 shares of Rs. 10
each at a discount of 10% payable as Rs. 2 each on application,
allotment and first call and Rs. 3 on the final call. Applications were
received for 60,000 shares and allotment was made pro-rata to .80% of
applicants. R to whom 2,000 shares were allotted paid only the
application money, and S who had applied for 3,000 shares, paid the-
entire call money due along with the allotment. Pass necessary journal
entries to record the above transactions. . 8

OR

Petromax Ltd. issued 50,000 shares of Rs. 10 each at a premium of
- Rs. 2 per share payable as Rs. 3 on application, Rs. 5 including
premium on allotment and the balance in equal instalments over two
calls. Applications were received for 92,000 shares and the allotment

was done as under :

A. Applicants of 40,000 shares — Allotted 30,000 shares
B. Applicants of 40,000 shares — Allotted 20,000 shares
C. Applicants of 12,000 shares — Nil

Suresh who had applied for 2,000 shares (category A) did not pay
any money other than application money.

Chandar who was allotted 800 shares (category B) paid the call
money due along with allotment.

All other allottees paid their dues as per schedule.

Pass necessary journal entries in the books of Petromax Ltd. to
record the above. '

UEH FA 3 10 ¥ YAF 9 40,000 AW FH GEwiTw veH F foaw fef
10% B W T fga oMoed, o= Td 9gq I Yo% W 2 &, 991 t<w
IEAT W3 % N S 9T 41 | 60,000 ¥ F fAw wHAr U3 Ww g a4 80%
FETH H UG YR W 3= fFa1 797 | 3R, & 2,000 3i9r smafza oy
T ¥, 4 Fad TEed R F @ YA fF qw ww, SR 3,000 Rt F faw
3EeA fFar o1, 9 SEeA & ' & it g o @ e R fear | swdw
A W A I F AU avas UswmwEn wfEEEt #1000

Agar
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16.

e fafee 3 50,000 3 &1, f9d T W 10 % o4, 2 % A
W frifaa fm | el & W 3 % AeeT W, 5 % Ewd W e dfed
T I AR F QA IR H T A @ F=Asl W R S oar 192,000
& fau seed @ g See sE=A 9 yaR fRar T

. 40,000 3 & ECH H — 30,000 W @i BT M

. 40,000 37T F AEH HH — 20,000 3 Efed fFT M@

¥ 12,000 39 F MECH W — FE W sEfed T R T

g, e 2,000 o & faq sme fear o (Svft ) smeea ufv & i
¢ ff oy T T T

T<t, 5@ 800 3w smafed faw 7w (svft 7), 7 sE=A T & WMF & A=A
fer &1 aE ot & fear |

T T amEfed ¥ e T W I 2 T H WA fRa o
toview fafids & s § Ivds = of S0 ¥ fou snavas s Sttt
ST |

Jain and Gupta were partners sharing profits in the ratio of 3 : 2.
Their Balance Sheet on 31 March 2008 was as follows :

Amount Amount
Liabilities Rs. Assets Rs.
Creditors . 20,000 | Cash 14,800
Bills payable 3,000 | Debtors 20,500
Bank overdraft | 17,000 | Less provision for doubtful debts __300 20,200
Reserve 15,000 | Stock 20,000
Jain’s Capital 70,000 | Plant 40,000
Gupta’s Capital | 60,000 | Buildings 70,000
Motor Vehicles 20,000
1,85,000 1,85,000

67/1
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They agree to admit Mishra for 1/4"™ share from 1.4.08 subjeét to the
following terms :

(a) Mishra to bring in capital equal to /4™ of the total capital of
Jain and Gupta after all adjustments including premium for
goodwill. : :

®) ~ Buildings to be appreciated by Rs. 14,000 and stock to be
depreciated by Rs. 6,000.

(e) Provision for doubtful debts (on debtors) to be raised to Rs. 1,000.
(d) A provision be made for Rs. 1,800 for outstanding legal charges.
(e) Mishra’s share of goodwill/premium was calculated at Rs. 10,000.

Prepare Revaluation Account, Partners’ Capital Accounts and the
Balance Sheet of the new firm on Mishra’s admission. 8

OR

A, B and C were in partnership sharing profits in proportion to their
capitals. Their Balance Sheet on 31.3.2008 was as follows :

- Amount Amount
Liabilities s - Assets Rs.
Creditors 15,600 | Building 1,00,000
Reserve 6,000 | Machinery 48,000
A’s Capital 90,000 | Stock : 18,000
B’s Capital : 60,000 | Debtors 20,000
C’s Qapital 30,000 | Less provision
: for doubtful debts 400 19,600
Cash 16,000
2,01,600 ' ; 2,01,600

On the above date B retired owing to ill health and the following
adjustments were agreed upon :

(a)  Buildings be appreciated by 10%.
(b)  Provision for doubtful debts be increased to 5% of debtors.

67/1 ' 13 | _ . PO
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(c)
(d)

(e)

()

(g)

(h)

(i)

Machinery be depreciated by 15%.

Goodwill of the firm be valued at Rs. 36,000 and be adjusted into
the Capital Accounts of A and C who will share profits in future
in the ratio of 3 : 1. :

A provision be made for outstanding repairs bill of Rs. 3,000.

Included in the value of creditors is Rs. 1,800 for an outstanding

legal claim, which is not likely to arise.

Out of the insurance premium paid Rs. 2,000 is for the next year.
The amount was debited to P & L Ale.

The partners decide to fix the capital of the new firm as
Rs. 1,20,000 in the profit sharing ratio.

B to be paid Rs. 9,000 in cash and the balance to be transferred
to his Loan Account.

Prepare the Revaluation Account, Partners’ Capital Accounts and the
Balance Sheet of the new firm after B’s retirement. '

S g T WRER 4 S o # 3 : 2 F oua H favifsa & & |
31 A& 2008 &I 37w feafg-faawor fr=fafaa o -

e - qfa
< v | - %.
TR | 20,000 | 3% ' 14,800
27 fagm 3,000 | SR 20,500
% arferferd 17,000 | 9 R §¥F 300 | 20,200
EEE] 15,000 | ©1% 20,000
it - S 70,000 | 5 40,000
goft — T 60,000 | ¥ ' 70,000

| A1 MY 20,000
1,85,000 1,85,000
14



e il T 14,08 2 ¥ Fm 2 14 7 ¥ sfwn 3 fore v 33 3 forw e

o e

(3 o, S99 T @ W e e enfa & g i o afefaa @
& TvE F OST & 1/4 9 F 9UR GOt & &9 F @ |

(@) W& H 14,000 & § T ¢ G4 ©EF W 6,000 T. FH T HSAT R |
(@) IR W Efry w0 F AT SR 1,000 . TF ST § |

(F) H A F faw S oendt erew €, 1,800 T F AN F B

@ e & sfw # wfasffrem 9 e 10,000 7 H W €

fisl & YU W [Hedsd @, 9Eel & O @ aw | W oa fRafg-faen
TR FT |

HYar

F, 9 T T URER ¥ S oAl R o IR F ooua H fawisa @ 4 |
31.3.2008 &l 3 fafq-faawor frafafaa o -

LUN : afer

FaTd %, grfaat T
TR 15,600 | ¥ ' . 1,00,000
EEE] 6,000 | TR 48,000
Toft - & 90,000 | €% 18,000

goft - & 60,000 | TR 20,000

gt - 9 30,000 | 9 ®OT €9 —400 | 19,600
TS 16,000
2,01,600 2,01,600

U fify & 9 % dWR & S & FRO IWA FHNT Fgul fran dur frefefaa
mﬁl‘—[ﬁﬁ'&‘m:

(1) 999 F 10% FFA 2 |
(@) Hfgy ol & fau e, el & 5% % & © |

67/1 15 P.T.O.



17.

18.

19.

20.

67/1

) mﬁqﬁmlé%mmél '

(8) WH S =fd # gouisd 36,000 5. fmar M1 REw SEESE 7 9 9 % G
@l § o mar St owfasy § ol @ 3 ;1% Iua # fawfea & |

@) mwﬁa%m&oooammméy

@) oFel # 1,800 T. 3T FA A & wfAfeld § S 3 @ o9 § |

(@) o S PEE 7 2,000 F. Waﬁ%ﬁquﬁm%wmﬂﬁ@%
B AW § ol Y€ |

@ EwEeR 3 € woa O 1,20,000 & ffEd @ S 3A% AW foueE $

39 H B |
(§) 9 H 9,000 T F TG YA fHA TCW T I§ Ik FOT WA A
TR & fear Sm o

T F EHY TV & IW eI @A, VRl & USt W a9 8 EH @
feafa-foamo dar i@ |
PART B
(Analysis of Financial Statements)

T @
(favira faawon =1 faverson)

State why Cash Flow Statement is not a substitute for Income

Statement.

g ¥t fqawr, o foewer & s w6 W@ 2?7 Sy |

When is interest received considered as financing activity ?

W AN &I O GhaseT &9 9usm ST 8 2

What will be the operating profit ratio, if operating ratio is 81:38% ?

A e HUE 81-38% B, A SEICH @M AU HT B ?

Why is Analysis of Financial Statements important to creditors ?

ﬁﬁ}uﬁa@ﬁmﬁ?ﬁwéﬂa’rﬁ%mmﬁ%ﬁ@ﬁﬁ%?
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21. Prepare a Comparative Income Statement from the following :

31" March 2007 | 31°* March 2008
Rg. &5 Rs.
Sales 10,00,000 12,50,000
Cost of Goods..Sold 6,00,000 7,50,000
Operating expenses 40,000 50,000

Interest on investments @ Rs. 50,000 and taxes payable @ 50%.

frfafed ¥ qoers o faser dar SR

31 914 2007 31 W 2008
%, 3
G A 10,00,000 12,50,000
I T A H A 6,00,000 750,000
EEIGE L] 40,000 50,000

fafsanit w =< 50,000 F. 8 991 F 50% F R YT 7 |

22. (a) Net Profit after Interest but before tax : Rs. 1,40,000; 15%
long-term debts : Rs. 4,00,000; Shareholders funds : Rs. 2,40,000;

Tax rate 50%. Calculate Return on Capital Employed.

(b) Opening Stock : Rs. 60,000; Closing Stock : Rs. 1,00,000; Stock

Turnover Ratio 8 times; Selling price 25% above cost. Calculate

the Gross Profit Ratio.

(37) TN Fed F GG T B AN F W@ LS AW : 1,40,000 T

AEHEE =07 : 4,00,000 %.; ER B : 2,40,000 %.; F H L 50% |

faifse o | Y@ & E SIS |

(@) IR =i : 60,000 %.; A=W RE ;. 1,00,000 F.; RiE MEd A
8 T, fka e arTa § 25% IS | Wehel oW U I M0AT FHfS |
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23. X Ltd. made a profit of Rs. 1,00,000 after considering the following
items : '

(a) Depreciation on Fixed Assets Rs. 20,000

(B) Writing off préliminaf_y expenses Rs. 10,000
(c) Loss on sale of Furniture Rs. 1,000

(@  Provision for Taxation Rs. 1,60,000

(e) Transfér to General Reserve Rs. 14,000

()  Profit on sale of Machinery Rs. 6,000

The following additional information is available to you :

31.3.2007 | 31.3.2008
Items Rs. Rs.
Debtors 24,000 30,000
Creditors 20,000 30,000
Bills Receivable 20,000 17,000
Bills Payable 16,000 12,000
Prepaid Expenses 20| 600

Calculate cash flow from operating activities.

frafafgd 73 & == § Wod ¢ T fafide 4 1,00,000 €. F AT HAM
(31) ¢ gfaE | g 20,000 %.

(@) s =R F e 10,000 F.

(W) R FOfEE § o 1,000 %

(3) & fu S 1,60,000 F.

() EE §EE & A FEReT 14,000 F.
.(r) mﬂqﬁ%ﬁmam&ooo“@
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. [ e B0L 3

s fefafe sifafe 3= Suosy € -

31.3.2007 | 31.3.2008
L 3 3.
SR 24,000 30,000
TR 20,000 30,000
g faom 20,000 17,000
<7 faua 16,000 12,000
geeT = 400 600

Yoo fRasal ¥ J6g YaE S U i |

PART C
(Computerised Accounting)
WOT

(e A@H)

What is Coding ?
HhdietoT (FfEm) 1 8 ?

What is a super group ?

IR-TE (YR I9) F 2 ?

List any four basic systems of Computerized Accounting System.

AT d@iFT TSfd & FE IR STYRYT 0 FaRT |

What is import and export of data ?
U F1 e a9 fai g g 2

What is meant by Internal checks ?

HIRF ST & F aed B g ?

What are the essentials of a good reporting system ?

TS 39! iaaed vsid (ROifén fawen) & difas o #1 € ?
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A factory owner purchases a new machine that costs Rs. 6,00,000 and
has a useful life for 10 years, with salvage value of Rs. 60,000.
Indicate the formula to be used in an Excel Worksheet to calculate
depreciation under the Diminishing Balance Method. Also, using the
formula, calculate the depreciation to be provided for a day, a month
and a year.

TF S w @ s € 9 6,00,000 € ¥ ®F FaT @ fSEer sugnh
HeEre 10 af 2, 9o IHH @I qeF 60,000 T ? | BEEE WY YOMER T
FH F A A F AU uF ueHe a@vie H WA B a9 §F & <uise | 9
A OFE T T A F I, @ AR F fom e ww o & e @y
I A g & T FIST |

(W]

20 43,

(W 8]

(W]}



